
REV. 7 5-10-22 DSL

Installation Instructions & Warranty Information
1964S ~ 04-08 300C, 05-08 Charger & Magnum 5.7L
1964S-1 ~ 09-22 300C, Charger & Challenger 5.7L
1965S ~ 05-14 300C & Charger, 05-09 Magnum, 

08-14 Challenger - 6.1/6.4L Only
1968S ~ 15-22 300C, Charger 7 Challenger 6.2/6.4L

Cat4Ward® Header 

2005-2016 Model Years ONLY

2017-2022 Model Years



1.  Remove plastic shield from under side of frame.

2.  Loosen the exhaust system, apply lubricant to the rubber hangers, slip exhaust off of front exhaust 
pipes.

3.  Unplug 02 sensors, Unbolt front exhaust pipes from manifolds. Remove from car.

DRIVER’S SIDE:
4.  Remove the 02 sensor from factory exhaust manifold.

5.  Place a jack under the oil pan with a board between the jack and the pan. Remove the two 18mm 
nuts, and studs attaching the motor mount to the frame. Raise the engine about 1”.

6.  Remove the four 15mm headed bolts attaching motor mount bracket to the engine block. Then 
remove the motor mount.

7.  Remove the four 10mm nuts from the heat shield on the exhaust manifold. Then remove the heat 
shield.

8.  Remove the bolts attaching the manifold to the head and remove the manifold.

9. Clean the sealing surface of the cylinder head.

10. Apply a small amount of anti seize to the header bolts and install the new JBA header using the 
supplied gasket and hardware provided.

11.  Re-install the motor mount. Then lower the engine and re-install studs attaching motor mount to 
frame.

12. Install O2 sensor into the header with a small amount of anti-seize on the threads.

PASSENGER SIDE:
13. Remove the 02 sensor from factory exhaust manifold. Place a jack under the oil pan with a board 
between the jack and the pan. Remove the two 18mm nuts, and studs attaching the motor mount to 
the frame. 

14. Remove the two 10mm headed bolts attaching the heat shield to the motor mount bracket. Re-
move heat shield.



15. Remove the nut at the rear, and the bolt at the front of the brace connecting the motor mount and 
the alternator bracket. Remove brace.

16. Loosen the 10mm nut on the manifold heat shield, and remove the Oil Dipstick.

17. Raise the engine about 1”.

18. Remove the two bolts attaching the motor mount to the engine bracket. Remove the motor mount.

19. Remove the four 10mm nuts attaching the heat shield to the exhaust manifold and remove the 
heat shield.

20. Remove the bolts attaching the manifold to the head and remove the manifold.

21. Clean the sealing surface on the cylinder head.

22. Apply a small amount of anti seize to the header bolts and install the new JBA header using the 
supplied gasket and hardware provided. Use the original stud and new spacer at the dipstick bracket 
position.

23. Re-install motor mount. Lower engine, re-install studs attaching motor mount to frame.

24. Re-install dipstick, using an original nut.

25. Re-install the brace connecting the alternator bracket to the motor mount. Re-install the motor 
mount heat shield.

26. Install the O2 sensor.

Exhaust:
27. Apply a small amount of O2 sensor safe, Hi-temp RTV silicone sealer to the dome on the header 
collector.

28. Install the front exhaust pipes using the hardware provided. Re-connect the lower O2 sensors.

29. Re-connect the exhaust system to the front exhaust pipes. Align and tighten securely.

30. Start engine, check for leaks.

31. Replace plastic shield.

32. Retighten all hardware after about 100 miles and yearly thereafter.
			 

	 Parts List: 	 (1) Driver side header			   (1) Passenger side header
			   (2) Head flange gaskets			   (17) 8mm x 25mm bolts
			   (17) 8mm lock washers			   (4) 3/8 x 2 “ bolts
			   (8) 3/8 flat washers	  			   (4) 3/8 lock washers (4) 3/8 nuts		
			   (1) 5/8 x 1 1/8 spacer			   (1) CARB EO Sticker




